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L+i+i: ab+bc+ca:2
a b ¢ abe
abe=—2
1)? (1)2 (1)2_(1 1 1)2 (1 1 1)
((I)er+c_oz+b+ 2abb ca
:4_2.a+b+c
abe
2
=4—-2 —5
=6
5. [8E] @
<of &>

a?+ b+t =12
a+b+c=40 28, 12=16—2(ab+bc+ca)
ab+bcH+ca=2
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1, 1,1 ab+bctca 2

—F —+ —=
a c abe —2

b -

51. [8E€] @
<oi &>
atbtc=19 AHS HZ5HH

a?+ b2+ ct4+2(ab+betea)=1

SN a2+62+02=%% tHelstol Melohs

1
+betca=——
ab+bc+ca 16
0110 . i+l+l:mzlo|g§
a b ¢ abe

abc:ab+bc+ca:—LO| ECh.
16
52. [8E] ®
< &>
2w3—3x2+ax—3=(xQ—x—i—b)(?x—i—m)
2:173—3x2+ax—3=2x3+(m—2)m2+(2b—m)w+bm
2t m=—1, 2b—m=a, bm =—3012&
a=T7, b=3

~at+b=10
53. [EE] @
<ol &>

22" —dz* + 2P + 522 — 3= (z— 2) (22 + 22 + 7o+ 14)+ 25
Q(z)=2z"+2*+7z+14

a=0, b=14
at+b=14
54. [8E] @
<off &>

t+at+8r—2=A"+22—1)+z+1
x4+$3+7x—3=/1(x2+2x—1)
A= (" —z+3)
55. @
A=(2*4+2+1)(z+3)+2z—1
=2* + 427 +62+2
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